
      SEZNAM VYTYČOVACÍCH BODŮ
1.           v bodě  X=1013810.723222  Y=866498.453227  Z= 0.000000
2.           v bodě  X=1013813.797184  Y=866474.439247  Z= 0.000000
3.           v bodě  X=1013812.634761  Y=866454.973893  Z= 0.000000
4.           v bodě  X=1013812.157873  Y=866446.988151  Z= 0.000000
5.           v bodě  X=1013810.965647  Y=866427.023718  Z= 0.000000
6.           v bodě  X=1013809.773420  Y=866407.059285  Z= 0.000000
7.           v bodě  X=1013808.581194  Y=866387.094851  Z= 0.000000
8.           v bodě  X=1013807.388968  Y=866367.130418  Z= 0.000000
9.           v bodě  X=1013806.196742  Y=866347.165985  Z= 0.000000
10.           v bodě  X=1013805.004516  Y=866327.201551  Z= 0.000000
11.           v bodě  X=1013803.951236  Y=866309.563836  Z= 0.000000
12.           v bodě  X=1013803.964158  Y=866499.184796  Z= 0.000000
13.           v bodě  X=1013797.438142  Y=866499.975079  Z= 0.000000
14.           v bodě  X=1013797.191666  Y=866497.478399  Z= 0.000000
15.           v bodě  X=1013803.517066  Y=866495.209861  Z= 0.000000
16.           v bodě  X=1013807.509952  Y=866494.971416  Z= 0.000000
17.           v bodě  X=1013813.459051  Y=866493.940050  Z= 0.000000
18.           v bodě  X=1013817.451937  Y=866493.701604  Z= 0.000000
19.           v bodě  X=1013817.868618  Y=866497.679842  Z= 0.000000
20.           v bodě  X=1013819.455058  Y=866497.514722  Z= 0.000000
21.           v bodě  X=1013822.865874  Y=866497.865947  Z= 0.000000
22.           v bodě  X=1013825.169164  Y=866498.760383  Z= 0.000000
23.           v bodě  X=1013825.793052  Y=866499.381099  Z= 0.000000
24.           v bodě  X=1013824.883521  Y=866496.500032  Z= 0.000000
25.           v bodě  X=1013825.922314  Y=866496.675905  Z= 0.000000
26.           v bodě  X=1013827.189295  Y=866496.550287  Z= 0.000000
27.           v bodě  X=1013828.988411  Y=866494.440823  Z= 0.000000
28.           v bodě  X=1013830.811663  Y=866491.421415  Z= 0.000000
29.           v bodě  X=1013830.970835  Y=866494.086833  Z= 0.000000
30.           v bodě  X=1013833.164605  Y=866495.957852  Z= 0.000000
31.           v bodě  X=1013828.514805  Y=866500.682704  Z= 0.000000
32.           v bodě  X=1013846.150000  Y=866498.690000  Z= 0.000000
33.           v bodě  X=1013834.712468  Y=866499.823998  Z= 0.000000
34.           v bodě  X=1013831.525940  Y=866500.495147  Z= 0.000000
35.           v bodě  X=1013828.973783  Y=866501.601998  Z= 0.000000
36.           v bodě  X=1013826.361641  Y=866503.421389  Z= 0.000000
37.           v bodě  X=1013824.303682  Y=866505.604339  Z= 0.000000
38.           v bodě  X=1013822.059530  Y=866509.724734  Z= 0.000000
39.           v bodě  X=1013821.234698  Y=866513.625385  Z= 0.000000
40.           v bodě  X=1013821.291973  Y=866516.476126  Z= 0.000000
41.           v bodě  X=1013821.839040  Y=866507.161466  Z= 0.000000
42.           v bodě  X=1013821.753207  Y=866505.905089  Z= 0.000000
43.           v bodě  X=1013824.059490  Y=866503.759499  Z= 0.000000
44.           v bodě  X=1013824.878267  Y=866503.895611  Z= 0.000000
45.           v bodě  X=1013825.014379  Y=866503.076833  Z= 0.000000
46.           v bodě  X=1013822.697019  Y=866501.162928  Z= 0.000000
47.           v bodě  X=1013821.133106  Y=866501.462136  Z= 0.000000
48.           v bodě  X=1013819.735197  Y=866500.652241  Z= 0.000000
49.           v bodě  X=1013817.862770  Y=866504.027543  Z= 0.000000
50.           v bodě  X=1013817.455684  Y=866500.898070  Z= 0.000000
51.           v bodě  X=1013817.046820  Y=866486.917707  Z= 0.000000



52.           v bodě  X=1013813.053933  Y=866487.156153  Z= 0.000000
53.           v bodě  X=1013810.059266  Y=866487.334941  Z= 0.000000
54.           v bodě  X=1013807.033266  Y=866486.989068  Z= 0.000000
55.           v bodě  X=1013807.126753  Y=866484.905331  Z= 0.000000
56.           v bodě  X=1013807.538178  Y=866483.202236  Z= 0.000000
57.           v bodě  X=1013808.589848  Y=866481.006986  Z= 0.000000
58.           v bodě  X=1013809.426306  Y=866479.881090  Z= 0.000000
59.           v bodě  X=1013810.559183  Y=866477.888402  Z= 0.000000
60.           v bodě  X=1013810.862129  Y=866475.616281  Z= 0.000000
61.           v bodě  X=1013809.804297  Y=866474.677692  Z= 0.000000
62.           v bodě  X=1013816.808375  Y=866482.924821  Z= 0.000000
63.           v bodě  X=1013822.298594  Y=866482.596959  Z= 0.000000
64.           v bodě  X=1013824.414260  Y=866484.474179  Z= 0.000000
65.           v bodě  X=1013821.050496  Y=866462.535684  Z= 0.000000
66.           v bodě  X=1013820.039592  Y=866461.544165  Z= 0.000000
67.           v bodě  X=1013817.104539  Y=866462.721237  Z= 0.000000
68.           v bodě  X=1013816.046705  Y=866461.782610  Z= 0.000000
69.           v bodě  X=1013817.047589  Y=866458.889374  Z= 0.000000
70.           v bodě  X=1013819.801147  Y=866457.551278  Z= 0.000000
71.           v bodě  X=1013825.792755  Y=866457.193475  Z= 0.000000
72.           v bodě  X=1013829.077006  Y=866460.229852  Z= 0.000000
73.           v bodě  X=1013825.977550  Y=866460.287962  Z= 0.000000
74.           v bodě  X=1013827.139148  Y=866463.473972  Z= 0.000000
75.           v bodě  X=1013829.135592  Y=866463.354749  Z= 0.000000
76.           v bodě  X=1013829.200000  Y=866439.440000  Z= 0.000000
77.           v bodě  X=1013829.109528  Y=866448.096741  Z= 0.000000
78.           v bodě  X=1013826.009698  Y=866448.064308  Z= 0.000000
79.           v bodě  X=1013826.194493  Y=866451.158795  Z= 0.000000
80.           v bodě  X=1013819.443479  Y=866451.561948  Z= 0.000000
81.           v bodě  X=1013819.644535  Y=866446.541066  Z= 0.000000
82.           v bodě  X=1013819.205034  Y=866447.569062  Z= 0.000000
83.           v bodě  X=1013816.150759  Y=866446.749706  Z= 0.000000
84.           v bodě  X=1013815.212147  Y=866447.807507  Z= 0.000000
85.           v bodě  X=1013816.550243  Y=866450.561065  Z= 0.000000
86.           v bodě  X=1013806.310521  Y=866474.886332  Z= 0.000000
87.           v bodě  X=1013796.638587  Y=866312.924867  Z= 0.000000
88.           v bodě  X=1013800.132363  Y=866312.716227  Z= 0.000000
89.           v bodě  X=1013801.070973  Y=866311.658394  Z= 0.000000
90.           v bodě  X=1013800.996279  Y=866309.925990  Z= 0.000000
91.           v bodě  X=1013804.125249  Y=866312.477782  Z= 0.000000
92.           v bodě  X=1013806.928291  Y=866309.571745  Z= 0.000000
93.           v bodě  X=1013807.060303  Y=866311.300726  Z= 0.000000
94.           v bodě  X=1013808.118136  Y=866312.239337  Z= 0.000000
95.           v bodě  X=1013811.611912  Y=866312.030697  Z= 0.000000
96.           v bodě  X=1013823.084928  Y=866462.213836  Z= 0.000000


